
2.25

2.30

φ∆
 d

N
/d

× t
1/

N
 < 0.6 GeV/ct

T
a) 0.2 < p

| < 1.8η∆0.8 < |

He+Au@200GeV30-10% 1.40

1.42

1.44

1.46
 < 0.6 GeV/ct

T
b) 0.2 < p

| < 1.8η∆1.0 < |

0.74

0.75

0.76

0.77
 < 0.6 GeV/ct

T
c) 0.2 < p

| < 1.8η∆1.2 < |

0.295
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 < 0.6 GeV/ct

T
d) 0.2 < p

| < 1.8η∆1.4 < |
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 < 1.1 GeV/ct
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| < 1.8η∆1.2 < |

0.310
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1.40
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| < 1.8η∆1.0 < |

0.76

0.78
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 < 2.0 GeV/ct

T
k) 1.1 < p

| < 1.8η∆1.2 < |

0.31

0.32

0.33
 < 2.0 GeV/ct

T
l) 1.1 < p

| < 1.8η∆1.4 < |

1− 0 1 2 3 4
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φ∆
 d

N
/d

× 
tr
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1/

N

1c

 < 2.0 GeV/ct

T
m) 0.2 < p

| < 1.8η∆0.8 < |

1− 0 1 2 3 4
(rad)φ∆

1.40

1.42

1.44

1.46

2c

 < 2.0 GeV/ct

T
n) 0.2 < p

| < 1.8η∆1.0 < |

1− 0 1 2 3 4
(rad)φ∆

0.75

0.76

0.77

0.78

3c

 < 2.0 GeV/ct

T
o) 0.2 < p

| < 1.8η∆1.2 < |

1− 0 1 2 3 4
(rad)φ∆

0.300

0.305

0.310

0.315

4c

 < 2.0 GeV/ct

T
p) 0.2 < p

| < 1.8η∆1.4 < |
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